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Section 7.6 Worksheet        Name: _______________________________ 
 
Check whether each ordered pair is a solution of the inequality. 

 

1.)  𝑥𝑥 − 𝑦𝑦 < 4   

(5, 4)   Yes   /   No     (−1,−4)      Yes   /   No     
 
  

2.)  2𝑥𝑥 + 3𝑦𝑦 ≤ −3   

(0,−1)     Yes   /   No     (−3, 2)      Yes   /   No 

 
 

3.)  3𝑥𝑥 − 2𝑦𝑦 < 2   

(0, 0)     Yes   /   No     (2, 0)      Yes   /   No 
 
 

Graph the following inequalities. Be sure to fill out the table using test points! 
 
4.)  𝑥𝑥 < 3       5.)  𝑦𝑦 ≤ 3

4
𝑥𝑥 + 1 

     
 
 
6.)  3𝑥𝑥 − 𝑦𝑦 ≥ 1      7.)  2𝑥𝑥 + 5𝑦𝑦 < −10 
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Graph the following system of inequalities. Be sure to fill out the table using test points! 
 
8.)  𝑥𝑥 > −1       9.)  𝑦𝑦 ≥ 2 
 
       𝑥𝑥 < 1              𝑦𝑦 < 3 
 
     
 

 

   
 

 

 

 

 
10.)  𝑥𝑥 + 𝑦𝑦 > 1      11.)  𝑦𝑦 + 2 ≤ 𝑥𝑥 
 
       𝑦𝑦 ≥ 𝑥𝑥              2𝑥𝑥 + 𝑦𝑦 < 4 
 
     
 

 

   
 

 
 

 

 

12.)  𝑦𝑦 ≥ 2       13.)  𝑥𝑥 ≤ −𝑦𝑦 
 
       𝑥𝑥 + 𝑦𝑦 ≤ −3             2𝑥𝑥 − 𝑦𝑦 < 4 
 
     
 

 

   
 

 


